Whitman College 
Econ 308 Exam 2 
March 12, 1998 

Write all answers in your blue book. Show all of your work. 




1. (10pts) Suppose that you know the actual unemployment rates for the U.S. from 1945 through 1998. How could you use this data to estimate the natural rate of unemployment for 1986? 


2. Suppose that the labor force is fixed at 150 million people, of which 143 million are currently employed. Suppose that the annual rate of job separation s= 0.02, and the annual rate of job finding f=0.25. 
(a) (5pts) What is the natural rate of unemployment for this economy? 
(b) (5pts) What is the current unemployment rate? 
(c) (5pts) What will the unemployment rate be after one year? 


3. (5pts) Define the income velocity of money. 
(5pts) What does the Quantity Theory of Money assume about the income velocity of money? 
(5pts) According to the Quantity Theory of Money, under what conditions does real aggregate output change? 


4. Suppose that the following information is true about two countries, Country A and Country B. At the end of 1998, Country A had a Consumer Price Index (CPI) of 200, and a real interest rate of 2.5%. Assume that everyone predicts that Country A's CPI will be 208 at the end of 1999. 
At the end of 1998, Country B had a Consumer Price Index (CPI) of 300, and a real interest rate of 3.5%. Assume that everyone predicts that Country B's CPI will be 315 at the end of 1999. 
At the end of 1998, Country A's exchange rate was 3.00, i.e. it took three units of B's currency to buy one unit of A's currency. Assume that the Fisher equation holds, and that Purchasing Power Parity holds. 
(a) (5pts) What was the nominal interest rate in Country A at the end of 1998? 
(b) (5pts) What was the nominal interest rate in Country B at the end of 1998? 
(c) (10pts) What will Country A's exchange rate be at the end of 1999? (In other words, how many units of B's currency will it take to buy a unit of A's at the end of 1999?) 


5. Consider the following model. The banking industry holds one kind of deposit, a checking deposit. The money supply is defined to be currency in the hands of the public (C) plus deposits (D). The monetary base is currency in the hands of the public plus reserves (R) in the banking industry. Assume that the public holds some currency and that banks hold some excess reserves (ER). Let  be the required reserve ratio on deposits. 
Suppose the currency to deposit ratio is 0.22, the excess reserves to deposit ratio is 0.06, and the required reserve ratio is 0.09. 
(a) (10pts) Derive the formula for the money multiplier for this economy. 
(b) (10pts) If the Fed were to sell 10 million dollars of government Treasury bills, what would ultimately happen to the money supply? 


6.(a) (5pts) Define the Federal Funds Rate (FFR). 
(b) (15pts) Describe what action the Federal Reserve takes when it wants to lower the FFR. With reference to a supply and demand diagram, explain why the FFR falls in response to this action.
